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flr+h)— f(;r).

f(a) ~ ,

G900l 3)3600350 godws
2

flz+h) = f@&) +hf @) + 5 €. €€ (math).

fle+h)—flz) h

fi(z) = — —f" (&), e (x,z+h).
h 2
Forward difference, backward difference;
, flx)— f(z —h
f(z) = 1) h( ),
395G 60 (omdmgdo:
, fle+h)— flz—h
ply o LEER) — B
2h
3500301350 Mmm ©OLIMOYGHYIo oMM bOL FMTogds:

h_? 3

fleth) = J@)+hf(@) + @) + (),
h? h?
fle—h) = f(x)=hf'(@)+5f"(@) - =f"(&)

&1 € (z,x+h)

& € (z— h,x).
T — r — 12 .
flay = TEXRZTEZD gy 1 i),
£7(€) = 1" + 17(E)]
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Ee(r—h,x+h)

LodMEMM:
P f(l’—l—h)—f(l?—h} _h_z P
f(w) = B = (E),
d9m69 Mool Fomdmgdmwo:
f”(.“l'} o f(I + h) B Qf(I) + f(I B h)
- h? '
! h? " h? 1 W (1) ¢
flz£h) = f(2) £ hf(2) + 5 (@) £ 2 f7(2) + 5777 (62)-
xr — T r—n 2 ‘ . 2 .
a2 2D TEZR) )+ o (596 ) + 59(E0)) = @)+ 1 10(E),
3OMI0EgdY:
2
‘%f”}(@, ge(@—hz+h)

5 §90G0wo0sbo gm®dmes (5 point stencil)

{x — 2h,x — h,x,x + h,x + 2h}.

—f(z+2h) +8f(z+ h) — 8f(x — h) + f(x — 2h)
12h

fla)~

flexm = f@ £hf @)+ 5 @+ Ko ronm).  (Ew).

Fa+h) = f2—h) =20 @) + L fO@ L o). (B,
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o+ 2h) = [(2) £ 207 (2) + 22 1"(@) & 2 10 @) 1 0(ht). (Bne)

(By).

3
flz 4 2h) — f(z — 2h) = 4hf'(z) + %fﬁj{rj + Oy(h*)

b

2o0m3z53wmoy: 8 x (Ey) - (E3)
8f(x+ h) —8f(x — h) — flx + 2h) + f(xz — 2h) = 12hf'(z) + O(h*)

3505¢0 ool Hs®dmgdmmagdo (5 FobGHowosbo 95dgmbo)

_=flz+2h)+16f(x + h) = 30f(x) + 16f(x — h) — f(x — 2h)

i) ~ 1242
£O(g) n 1@+ 20) = 2f(@ + 1) 4+ 2f(z — ) — f(z — 2h)
2h3
f{f‘t:'(:r) _fle+2h)—Af(x+h)+6f(z) —4f(x—h)+ f(x - 2h)
~ i
60 33500l gmbJgos

f{I—I—h,y)—f(I—h,y)

; k) — oy —k
fylz,y) = fla.y+ }Qkf(x. y )
39069 FoHdgdmeo:
hoy) —2 : — h,
fez(2,y) = flz+hy) fg;.y)—l—f(:t )

fyy(z,y) & fley+F) —Qf&:;,y)Jrf(:t,y—k)

39609990 Ho6rdmgdmeo:



SLEGHOMGB0BOIOL 59M356900L I MO / 9300 3 / 9¢0.93%5dg

hoy+k)— hoy—k)— flx—hy+k —hoy—Fk
fmy(;n,y)mf(IJr Y+ k)= flz+hy )%kf(:t Y+ k) + flx—hy )_

h dox ol 996mBggs:

useless accuracy

h = (epsilon)(1/2)*x

epsilon = 2.2e-16; (double precision 64 bit)

To do:

f(x) = sin*(1.2x) + c0s*(0.8x)

X = (0:0.1:20);

f1(x) = d/dx f(x) : analytic derivative;

f2(x) = d/dx f(x) : numerical derivative: forward,;

f3(x) = d/dx f(x) ; numerical derivative: backward;
f4(x) = d/dx f(x) : numerical derivative: centered;

f5(x) = d/dx f(x) : numerical derivative: 5 point stencil;

Plot numerical deviations on the single figure:

1. (F2-F1)
2. (f3-F1)
3. (F4-F1)
4. (f5-F1)
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306960b 3OHMm3gLoL 0bEgyMmswo:
t
W (1) = f W (s)ds
0

dX,
dt

3030300 53mbsblibo 09930 Lsfyolo 360d3bgemds Xo JombGos - bLGmdolGwemo 3GmEglo.

= a(Xy)

1‘{"} = @

06OH™Mbols dOoMds: dy

0@™U (Ito) bEMIsLEGHOO 35 39 Lo:
dXt = ﬂ{Xf]ldt + C(thldBt

a(X) - ©GIogob 26305
c(X) — wobsgmloolb 3-9b;305

W (B) 990mbgg30m0 36303905, ®mdol oxgMgb3oswos (Fo6dmgdraro) 56 sGLgdmdL
(stochastic self-similar process). 99L5dggd90s MM (LEHMJSLEHMOO) 0BEHIIMIOL FSTMNGY!

t t
X, = Xo+ / a(Xs)ds + [ ¢(Xs)dBs

v W1
LoS3 0GML BEGHMPILEOO 0bEHJAMIWO:



https://en.wikipedia.org/wiki/File:Wiener_process_zoom.png
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t
I, = / ¢(X,)dB,
(

0AML 35¢3wlo - Homdmgdmwo:
Y, = f(t, X,)

Bssg Xt 0¢™ML 360 39L05. 0@ @gds:
dXE = L dt + ¢ dBE_,

_(of Of  oidf of
i = (81‘. Fhigy T gaz ) 4 oy, 4B

535398000 (93609d0:
1. 330G o figgdo;
2. ©ob3gMLowwo bsfforo;
3o
d(X:Y:) = XydYy + Yid X, + dX,dY,

306960l ©olizME o 3MMEgLOL dmEIEoMmgds:

96O0569000L296 FM3000909w0 F9dNHZ9300 MO3B3xd0L 39dEHMO0: (Z1, Z2, ... Zn)

WO =0
W, =W, + 74 (tl't0)1/2
W, =W, + 7, (tZ't1)1/2

Wi = Wy + Zi (tes - )"

9900bgg30m0 36OHM39L0, HMIGEoE 03000905 dMIMMBOL 3MM3gLOLZY6 Gmglsg 7 — o .

0535¢0mO:
39039G 00 dMMbOL FMIMHMDS:
aX) =axX,
c(X) = b X,
a,c = constant
dX; = ﬂ.X;fft + bedBf

30993500: f(X) = log(X)
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dlog X, = —dX, + = (—L) (dX,)>2

X, 2 \ " X?
=7, —Qb dt

= (f{,Xr — %b?) (‘Ef + ﬂ'dBﬁ

log X, = log Xo + (a, _ %bﬁ) t +bB,

Xt _ X[j{"{ﬂ_ ébﬂ}t+bB:
log(d6mbols ddGomds)

to do:

©bsBYM LBMPLEMOO 3OIM3ILO - 9MBYGHO0IXO dOIMMBOL FMIMSMOOL GHMS9JGHMO0JdO:
1,; — '},Ejectt+_.'5 B,

1.) a=1, =0.1;
2)) 0=0, B=0.1;
3) a=0.5, p=0.5;
4) 0=0.1, p=1;



